Nondewy Wedlnes Ay
i @) | vied BT
w2 G| el G
26 () | s 2D

2 (3(25 \2_([3 Ry

Exam

—

(MmWﬂwwﬂWRng




(ueston - ‘\M\"@J? Troulde (S Tt
tan (3, ton ) $ank )
il o 2010 Jodue . hee of€
- ey answers .

Z @M\‘(((} \\ (ﬂ@q\/\wv\g—(l —Lan¥
/(ﬂd/\ 1o where e Lorcdon \S\‘ one—to-one.

(’ 11)2’ (1—‘125

(
(

./“

A s

\ \/ t
N ow & T 0K e s ng\L@N dan (o\

ool L 4 ¥
50\&/&(0(\/
\/’ 5”\% (’ l[
l
I( _ﬂ \
| a .
( | 5
——\ B y ——t _,'
- —37/2’ TI | T}\/Z u ? ‘/2' T oL
Pd l k >



\ =

Sw 37
H/ZJ b/if‘/ Z) . -
Hﬂ*gmm[e&] Jnany M&S(
A Ll A< sawe
__— I %\Mﬁ N
( (( 3
'j \ I( SW\ @,\
z | 2§
\
( l—L— L
. ;
Consid, © =cos ¢
N\
& - A —
\/ \L/ i ¢ 3‘}'?'2:;(
3:0( (oS \NE_ (@ﬁﬂcir We  domen
fo 10T} (o5 (0)=5
BOHCAHToA . \(@_ .
COS (/> %\ “k/&\f\ A — 3
#\ X 1%\%@\/
s (7)) = T\ Sand=T



1 (g
% ;@ 0d) ;6: )ﬂ
Woct ook woueds "0S Gw
i)

B "é'
2

i
+cm" CL> =

SOH C M TOR

s (7)) 4

LSa‘b(' Omj
S
on\ngw [aaie g




o
Ll 2
/‘l\
o (S5 D=EL S
d v 335
netom a 1 f@a&

A o eas
ﬁg%gggmpi > \W\:}w\ use  ta)euledol

Weplorld st T Sum*\O\QQUQﬁ.Q

Pdem £1 5 cgin (55

S \A
== e .
tl
K L |2
N\
ms S\\(\QAZ
w @'(\' « Qun o
use os e e+ X q - os OMLMMCKO’C
2 & T %
X's% B4
o2 3w



Whetk WorKs € Uy ¢ 28 = &

v i\ /\
T % |
i \

[n/\o - ”SO — ‘go

%W\(o(~@: sind cos(d~ co sol 3P
B3 = s tosy - cosT SN

SoH( p-T0R

We BWo W&Q ey Yunckeons .
43 faop N tnd :

oce cos )= cos (09
acan 0= sin” 49
AN +an( = fan (X )

Jpraun : 0os 0O 107N
SUNCH RIS




Lan ()" (r%(%

0 Cosvl(apr)
o) rol Will=
o) ot %2644

£1) Cuuen o In @A oandk w(ozy%

D) sin(ze) = 3’ oL . //@; y
o) Los(ad) = [T o
9 fun24) = Jov A

ad 8
— M3 o4
= w3
“55“@43233‘“5“%__ WO{AL
N (osd = 2—;
\o) c0Y2l) \»7_5m‘;o<?/ ‘\‘M\dxﬁ—g |
- FZ'Q% = 3 %CMJ@.\J\GIN\
T
_ 24X _ 2 (3
c) J‘-aw(lo(\— — =
|- 4o \_Cgs



